AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

☐ FEDERAL CANDIDATE

M STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and Location: WSEK WSEC	Date: 10/36/18
1, Branden Wilson	
being/on behalf of: Melinda Gillum	Daltin
a legally qualified candidate of the Fra. ly	A .
political party for the office of:	
in the <u>beneal</u>	
election to be held on:	
do hereby request station time as follows:	

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
:30	7:36a-9a	MEN -	Pre-ent Which	15 15	
	16a - 70 12, - 50		W 100-0	15 24	2

Attach proposed schedule with charges (if available):

	or the above described broadcast t	ime has been furnished
by:	Elect Nelida Gil	lun Della
and you are authorized to anno represent that this person or er	ounce the time as paid for by such ntity is either a legally qualified car tion of the legally qualified candid	person or entity. I adidate or an
The name of the treasurer of the	ne candidate's authorized committe	e is:
$\mathbf{U}_{\mathbf{Z}}$	4 Lills	
This station has disclosed to m classes and rates; and discoun to federal candidates).	e its political advertising policies, i t, promotional and other sales pra	ncluding: applicable ctices (not applicable
	ISCRIMINATE OR PERMIT DISC HNICITY IN THE PLACEMENT O	
To Be Signed By	Candidate or Authorized C	Committee
10/30/19		
Date	Signature	
To Be Si	igned By Station Representative	•
. ☐ Accepted	☐ Accepted in Part	☐ Rejected
Medel Bare	Michelle Barger	Account Exective
Signature	Linten itanie	* 126

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)	
☐ FEDERAL CANDIDATE	STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and Location: WSEK, WD Qa, WSFC,	wuk	Date: 10/30/18
1, Brandon Wilson		
being/on behalf of: Mc/inda	Gillum	Dalton,
a legally qualified candidate of the	Femily	Court Judge
	Kepush.	£7^
in the Seneral		
election to be held on:	Le/18	
do hereby request station time as fol	lows:	

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
:30	7:30a-9a 6a-10a 10a-7p 12p-5p	How - SUN	pre-engl Mico	24 24 24 24	2

Bennie in die der State bei der der State in	the state of the s	
	* / E B	charges (if available):
Meroch brobocod	CANDUING MULL	charde (it avaitable)
Miliarii Di Vii Useu	SOME WILL	CHENINGS (II GEORGE).

	the above described broadcast til	me has been furnished
Complex to 1	Elect Melinda G:1	lum Dalla
and you are authorized to anno- represent that this person or en	unce the time as paid for by such tity is either a legally qualified can ion of the legally qualified candida	person or entity. I didate or an
The name of the treasurer of the	e candidațe's authorized committe	e is:
Je	f Dilds	
This station has disclosed to me classes and rates; and discount to federal candidates).	e its political advertising policies, in promotional and other sales prac	ncluding: applicable stices (not applicable
THIS STATION DOES NOT DI BASIS OF RACE OR ETH	SCRIMINATE OR PERMIT DISCI INICITY IN THE PLACEMENT OF	RIMINATION ON THE ADVERTISING.
To Be Signed By	Candidate or Authorized C	ommittee
10/30/19		
Date	Signature	
To Be Si	gned By Station Representative	
Accepted	☐ Accepted in Part	☐ Rejected
MKDONE Bayer	Michelle Barger	Account Exective
Signature	Printed Name	Title

PROPOSAL



Barger, Michelle

Prepared for:

Melinda Gillum Dalton for Family Court Judge Agency

117 N Main St

Somerset, Kentucky 42501

Date: 10/30/2018 09:15

Advertiser: Melinda Gillum Dalton for Fami

Spots: 69

Total Gross \$582.00

Cost:

Rates guaranteed until 11/06/2018

Summary

Advertiser Melinda Gillum Dalton for Fami

Customer ID

00797409

Title

Melinda Gillium Dalton for Family Court Judge

Proposal Number 5012997

Billing Options Broadcast

Market - Survey(s) Somerset, KY - Sp '18

Demographics

Persons 25-54

Spot Schedule

WJQQ-FM

1 Week: 10/29

Daypart/Program	Len	Spots	M	Т	W	Th F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	СРР	AQH	Freq	% Mkt
Thu-Fri 6am-10am	30	6				3 3			\$14.00	\$84.00	0.0	0.0	\$0.00	100	2.0	0.1
Sat 10am-7pm	30	3					3		\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Sun 12pm-5pm	30	3						3	\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	12								\$108.00	0.0	0.0	\$0.00	100	1.5	0.1
Flight	Total	12								\$108.00	0.0	0.0	\$0.00	100	1.5	0.1

1 Week: 11/5

Daypart/Program	Len	Spots	М	Т.	w	Th	F	Sa	Su	Rate	Gross	AQH	GRPs	CPP	АОН	Frea	%
Day parti Togram	Len	Spots	141	'	**	111		Sa	Su	Nate	01033	Rtg	GINES	CFF	AUII	rieq	Mkt
Mon 6am-10am	30	3	3							\$14.00	\$42.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	3									\$42.00	0.0	0.0	\$0.00	0	0.0	0.0
Flight	Total	3									\$42.00	0.0	0.0	\$0.00	0	0.0	0.0

WLLK-FM

1 Week: 10/29

Daypart/Program	Len	Spots	М	Т	w	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	СРР	AQH	Freq	% Mkt
Thu-Fri 6am-10am	30	6				3	3			\$9.00	\$54.00	0.0	0.0	\$0.00	0	0.0	0.0
Sat 10am-7pm	30	3						3		\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Sun 12pm-5pm	30	3							3	\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	12									\$78.00	0.0	0.0	\$0.00	0	0.0	0.0
Flight	Total	12									\$78.00	0.0	0.0	\$0.00	0	0.0	0.0

1 Week: 11/5

Daypart/Program	Len	Spots	M	т	w	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	СРР	AQH	Freq	% Mkt
Mon 6am-10am	30	3	3							\$9.00	\$27.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	3									\$27.00	0.0	0.0	\$0.00	0	0.0	0.0
Flight	Total	3									\$27.00	0.0	0.0	\$0.00	0	0.0	0.0

WSEK-FM

1 Week: 10/29

Daypart/Program	Len	Spots	M	r w	Th	F	Sa	Su	Rate	Gross	AQH Rtg	(-RDe	СРР	AQH	Freq	% Mkt
Thu-Fri 6am-10am	30	6			3	3			\$15.00	\$90.00	0.0	0.0	\$0.00	0	0.0	0.0
Sat 10am-7pm	30	3		Τ		П	3		\$6.00	\$18.00	0.0	0.0	\$0.00	0	0.0	0.0
Sun 12pm-5pm	30	3				П		3	\$6.00	\$18.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	12								\$126.00	0.0	0.0	\$0.00	0	0.0	0.0
Flight	Total	12								\$126.00	0.0	0.0	\$0.00	0	0.0	0.0

1 Week: 11/5

Daypart/Program	Len	Spots	М	т	W	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	СРР	AQH	Freq	% Mkt
Mon 6am-10am	30	3	3				П			\$15.00	\$45.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	3									\$45.00	0.0	0.0	\$0.00	0	0.0	0.0
Flight	Total	3									\$45.00	0.0	0.0	\$0.00	0	0.0	0.0

WSFC-AM

1 Week: 10/29

Daypart/Program	Len	Spots	М	T V	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	CPP	AQH	Freq	% Mkt
Thu-Fri 7:30am-9am	30	6			3	3			\$8.00	\$48.00	0.0	0.0	\$0.00	0	0.0	0.0
Thu-Fri 10am-12pm	30	8			4	4			\$6.00	\$48.00	0.0	0.0	\$0.00	0	0.0	0.0
Sat 7:30am-9am	30	3				Т	3		\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	17								\$108.00	0.0	0.0	\$0.00	0	0.0	0.0
Flight	t Total	17								\$108.00	0.0	0.0	\$0.00	0	0.0	0.0

1 Week: 11/5

Daypart/Program	Len	Spots	M	Т	W	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	СРР	AQH	Freq	% Mkt
Mon 7:30am-9am	30	3	3							\$8.00	\$24.00	0.0	0.0	\$0.00	0	0.0	0.0
Mon 10am-12pm	30	4	4							\$6.00	\$24.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	7									\$48.00	0.0	0.0	\$0.00	0	0.0	0.0
Fligh	t Total	7									\$48.00	0.0	0.0	\$0.00	0	0.0	0.0

		Prop	osal T	otals				
	Spots	Gross	AQH Rtg	GRPs	CPP	AQH	Freq	% Mkt
WJQQ-FM	15	\$150.00	0.0	0.0	\$0.00	0	0.0	0.0
WLLK-FM	15	\$105.00	0.0	0.0	\$0.00	0	0.0	0.0
WSEK-FM	15	\$171.00	0.0	0.0	\$0.00	0	0.0	0.0
WSFC-AM	24	\$156.00	0.0	0.0	\$0.00	0	0.0	0.0
Total	69	\$582.00	0.0	0.0	\$0.00	0	0.0	0.0

PROPOSAL



Barger, Michelle

Prepared for:

Melinda Gillum Dalton for Family Court Judge Agency

117 N Main St

Somerset, Kentucky 42501

Date: 10/30/2018 09:24

Advertiser: Melinda Gillum Dalton for Fami

Spots: 96

Total Gross \$924.00 Cost:

Rates guaranteed until 11/06/2018

Summary

Melinda Gillum Dalton for Fami Advertiser

Customer ID 00797409

> Melinda Gillium Dalton for Family Court Judge Title

Proposal Number 5013201 **Billing Options Broadcast**

Somerset, KY - Sp '18 Market - Survey(s)

Demographics Persons 25-54

Spot Schedule

WJQQ-FM

1 Week: 10/29

Daypart/Program	Len	Spots	М	Т	w	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	CPP	AQH	Freq	% Mkt
Thu-Fri 6am-10am	30	6		1		3	3			\$14.00	\$84.00		0.0	\$0.00	100	2.0	0.1
Thu-Fri 3pm-7pm	30	6		٦		3	3			\$14.00	\$84.00	0.0	0.0	\$0.00	0	0.0	0.0
Sat 10am-7pm	30	3						3		\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Sun 12pm-5pm	30	3		T					3	\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	18									\$192.00	0.0	0.0	\$0.00	0	0.0	0.0
Fliaht	Total	18									\$192.00	0.0	0.0	\$0.00	0	0.0	0.0

1 Week: 11/5

Daypart/Program	Len	Spots	М	т	w	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	СРР	AQH	Freq	% Mkt
Mon 6am-10am	30	3	3							\$14.00	\$42.00	0.0	0.0	\$0.00	0	0.0	0.0
Mon 3pm-7pm	30	3	3							\$14.00	\$42.00	0.0	0.0	\$0.00	0	0.0	0.0
Week	ly Total	6									\$84.00	0.0	0.0	\$0.00	0	0.0	0.0
Flig	ht Total	6									\$84.00	0.0	0.0	\$0.00	0	0.0	0.0

WLLK-FM

1 Week: 10/29

1 1100K. 10/20										,			,				
Daypart/Program	Len	Spots	M	Т	w	Th	F	Sa	Su	Rate	Gross	AQH Rtg	(-KPC	СРР	AQH	Freq	% Mkt
Thu-Fri 6am-10am	30	6				3	3			\$9.00	\$54.00	0.0	0.0	\$0.00	0	0.0	0.0
Thu-Fri 3pm-7pm	30	6	П			3	3			\$9.00	\$54.00	0.0	0.0	\$0.00	0	0.0	0.0
Sat 10am-7pm	30	3						3		\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Sun 12pm-5pm	30	3							3	\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekl	y Total	18									\$132.00	0.0	0.0	\$0.00	0	0.0	0.0
Fliah	nt Total	18									\$132.00	0.0	0.0	\$0.00	0	0.0	0.0

1 Week: 11/5

Daypart/Program	Len	Spots	М	Т	W	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	СРР	AQH	Freq	% Mkt
Mon 6am-10am	30	3	3							\$9.00	\$27.00	0.0	0.0	\$0.00	0	0.0	0.0
Mon 3pm-7pm	30	3	3							\$9.00	\$27.00	0.0	0.0	\$0.00	0	0.0	0.0
Weel	dy Total	6									\$54.00	0.0	0.0	\$0.00	0	0.0	0.0
Fliç	ht Total	6									\$54.00	0.0	0.0	\$0.00	0	0.0	0.0

WSEK-FM

1 Week: 10/29

Daypart/Program	Len	Spots	М	Т	w	Th F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	CPP	AQH	Freq	% Mkt
Thu-Fri 6am-10am	30	6				3 3	3		\$15.00	\$90.00	0.0	0.0	\$0.00	0	0.0	0.0
Thu-Fri 3pm-7pm	30	6				3 3	3		\$15.00	\$90.00	0.0	0.0	\$0.00	0	0.0	0.0
Sat 10am-7pm	30	3					3		\$6.00	\$18.00	0.0	0.0	\$0.00	0	0.0	0.0
Sun 12pm-5pm	30	3					1.	3	\$6.00	\$18.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	18								\$216.00	0.0	0.0	\$0.00	0	0.0	0.0
Flight	Total	18								\$216.00	0.0	0.0	\$0.00	0	0.0	0.0

1 Week: 11/5

Daypart/Program	Len	Spots	М	Т	w	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	CPP	AQH	Freq	% Mkt
Mon 6am-10am	30	3	3							\$15.00	\$45.00	0.0	0.0	\$0.00	0	0.0	0.0
Mon 3pm-7pm	30	3	3							\$15.00	\$45.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	6									\$90.00	0.0	0.0	\$0.00	0	0.0	0.0
Flight	Total	6									\$90.00	0.0	0.0	\$0.00	0	0.0	0.0

WSFC-AM

1 Week: 10/29

Daypart/Program	Len	Spots	М	T '	w	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	СРР	AQH	Freq	% Mkt
Thu-Fri 7:30am-9am	30	6				3	3			\$8.00	\$48.00	0.0	0.0	\$0.00	0	0.0	0.0
Thu-Fri 10am-12pm	30	8				4	4			\$6.00	\$48.00	0.0	0.0	\$0.00	0	0.0	0.0
Sat 7:30am-9am	30	3						3		\$4.00	\$12.00	0.0	0.0	\$0.00	0	0.0	0.0
Weekly	Total	17									\$108.00	0.0	0.0	\$0.00	0	0.0	0.0
Flight	Total	17									\$108.00	0.0	0.0	\$0.00	0	0.0	0.0

1 Week: 11/5

Daypart/Program	Len	Spots	М	Т	W	Th	F	Sa	Su	Rate	Gross	AQH Rtg	GRPs	СРР	AQH	Freq	% Mkt
Mon 7:30am-9am	30	3	3							\$8.00	\$24.00	0.0	0.0	\$0.00	0	0.0	0.0
Mon 10am-12pm	30	4	4							\$6.00	\$24.00	0.0	0.0	\$0.00	0	0.0	0.0
Wee	kly Total	7									\$48.00	0.0	0.0	\$0.00	0	0.0	0.0
Flig	ght Total	7									\$48.00	0.0	0.0	\$0.00	0	0.0	0.0

Proposal Totals													
	Spots	Gross	AQH Rtg	GRPs	CPP	AQH	Freq	% Mkt					
WJQQ-FM	24	\$276.00	0.0	0.0	\$0.00	0	0.0	0.0					
WLLK-FM	24	\$186.00	0.0	0.0	\$0.00	0	0.0	0.0					
WSEK-FM	24	\$306.00	0.0	0.0	\$0.00	0	0.0	0.0					
WSFC-AM	24	\$156.00	0.0	0.0	\$0.00	0	0.0	0.0					
Total	96	\$924.00	0.0	0.0	\$0.00	0	0.0	0.0					



Melinda Gillum Dalton for Fami

117 N Main St

Somerset, KY 42501

Melinda Gillum Dalton for Family Co

Order Confirmation

Page 1 of 3

Printed: 10/30/2018 12:38 PM

Advertiser No: 797409

Order No:

1127076873

Start Date:

11/01/2018

Co-op:

No

End Date:

11/05/2018 Broadcast

0

Package:

No

Month Type:

Agency Comm: 15%

Revision #:

CPE: AE:

Barger, Michelle

Entered:

10/30/2018 12:28 PM by Fusion

Last Update: 10/30/2018 12:28 PM by Fusion

Note:

Note 2: Spl Req Inv:

Market Station	Bind To	Start Date	End Date	No Of Weeks	Rev.	Rate Type	Skip W. N	/ 1	г \	N 7	Г	F	s			Spot Length	Ord Spots	Ord Cost
1 SomersetK Y	06:00-10:00	11/01/18	11/02/18		1	15.00	0	0	0	0	3	3	0	0	6	30	6	90.00
•	Commercial				Local . Sales	Agency-												
2 SomersetK Y	10:00-19:00	11/03/18	11/03/18		1	6.00	0	0	0	0	0	0	3	0	3	30	3	18.00
WSEK-FM	Commercial				Local . Sales	Agency-												
3 SomersetK Y	12:00-17:00	11/04/18	11/04/18		1	6.00	0	0	0	0	0	0	0	3	3	30	3	18.00
WSEK-FM	Commercial				Local . Sales	Agency-												
4 SomersetK Y	06:00-10:00	11/05/18	11/05/18		1	15.00	0	3	0	0	0	0	0	0	3	30	3	45.00
WSEK-FM	Commercial				Local . Sales	Agency-												
5 SomersetK Y	06:00-10:00	11/01/18	11/02/18		1	14.00	0	0	0	0	3	3	0	0	6	30	6	84.00
WJQQ-FM	Commercial				Local Sales	Agency-												
6 SomersetK Y	10:00-19:00	11/03/18	11/03/18		1	4.00	0	0	0	0	0	0	3	0	3	30	3	12.00
WJQQ-FM	Commercial				Local Sales	Agency-												
7 SomersetK Y	12:00-17:00	11/04/18	11/04/18		1	4.00	0	0	0	0	0	0	0	3	3	30	3	12.00
WJQQ-FM	Commercial				Local Sales	Agency-												
8 SomersetK Y	06:00-10:00	11/05/18	11/05/18		1	14.00	0	3	0	0	0	0	0	0	3	30	3	42.00
WJQQ-FM	Commercial				Local Sales	Agency-												
9 SomersetK Y	07:30-09:00	11/01/18	11/02/18		1	8.00	0	0	0	0	3	3	0	0	6	30	6	48.00
•	Commercial				Local Sales	Agency-												
10 SomersetK Y	07:30-09:00	11/05/18	11/05/18		1	8.00	0	3	0	0	0	0	0	0	3	30	3	24.00
	Commercial				Local Sales	Agency-												

WiHeart MEDIA Order Confirmation

Total Net Due:

Page 2 of 3 Printed: 10/30/2018 12:38 PM

\$494.70

Order No: 1127076873

Market Station	Bind To	Start Date	End Date	No Of Weeks	Rev.	Rate Type	Skip W.	M	т	W	/ 1	ГІ	= ;	S		Spots/ W.	Spot Length	Ord Spots	Ord Cost
11 SomersetK Y	07:30-09:00	11/03/18	11/03/18	1		4.00	0	0	1	0	0	0	0	3	0	3	30	3	12.00
WSFC-AM	Commercial				Local A Sales	gency-													
12 SomersetK Y	10:00-12:00	11/01/18	11/02/18	1		6.00	0	0	1	0	0	4	4	0	0	8	30	8	48.00
WSFC-AM	Commercial				Local A Sales	gency-													
13 SomersetK Y	10:00-12:00	11/05/18	11/05/18	1		6.00	0	4	. (0	0	0	0	0	0	4	30	4	24.00
WSFC-AM	Commercial				Local A	gency-													
14 SomersetK Y	06:00-10:00	11/01/18	11/02/18	1		9.00	0	0	1	0	0	3	3	0	0	6	30	6	54.00
WLLK-FM	Commercial				Local A	gency-													
15 SomersetK Y	10:00-19:00	11/03/18	11/03/18	1		4.00	0	0	1	0	0	0	0	3	0	3	30	3	12.00
•	Commercial				Local A Sales	gency-													
16 SomersetK Y	12:00-17:00	11/04/18	11/04/18	1		4.00	0	0	1	0	0	0	0	0	3	3	30	3	12.00
WLLK-FM	Commercial				Local A Sales	gency-													
17 SomersetK Y	06:00-10:00	11/05/18	11/05/18	1		9.00	0	3	. 1	0	0	0	0	0	0	3	30	3	27.00
WLLK-FM	Commercial				Local A Sales	gency-													
			No	. of Spots/M	fisc/Digi	tal: 6	9/0/0	magnadagag		***************************************			A 0	gen rde	cy (red	Gross: Commis Net:	sion;		\$582.00 \$87.30 \$494.70

	Nov	Dec	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov
Amt. Ord.:	69	0	0	0	0	0	0	0	0	0	0	0	0
Gross:	582.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Net:	494.70	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00



Melinda Gillum Dalton for Fami

117 N Main St

Somerset, KY 42501

Melinda Gillum Dalton for Family Co

Order Confirmation

Page 1 of 4 Printed: 10/30/2018 12:40 PM

Advertiser No: 797409

Order No:

1127076870

Start Date:

11/01/2018

Co-op:

No

End Date: Month Type: 11/05/2018 Package:

No

Agency Comm: 15%

Revision #:

CPE:

AE:

Barger, Michelle

Broadcast

0

Entered:

10/30/2018 12:23 PM by Fusion

Last Update: 10/30/2018 12:23 PM by Fusion

Note: Note 2:

Spi Req Inv:

Market Station	Bind To	Start Date	End Date	No Of Weeks	Rev.	Rate Type	Skip W. N	N 1	۲ ۱	N 1	ΓΙ	= .	s :			Spot Length	Ord Spots	Ord Cost
1 SomersetK Y	06:00-10:00	11/01/18	11/02/18		1	15.00	0	0	0	0	3	3	0	0	6	30	6	90.00
WSEK-FM	Commercial				Local A	Agency-												
2 SomersetK Y	15:00-19:00	11/01/18	11/02/18		1	15.00	0	0	0	0	3	3	0	0	6	30	6	90.00
WSEK-FM	Commercial				Local A	Agency-												
3 SomersetK Y	10:00-19:00	11/03/18	11/03/18		1	6.00	0	0	0	0	0	0	3	0	3	30	3	18.00
WSEK-FM	Commercial				Local . Sales	Agency-												
4 SomersetK Y	06:00-10:00	11/05/18	11/05/18		1	15.00	0	3	0	0	0	0	0	0	3	30	3	45.00
WSEK-FM	Commercial				Local . Sales	Agency-												
5 SomersetK Y	06:00-10:00	11/01/18	11/02/18		1	14.00	0	0	0	0	3	3	0	0	6	30	6	84.00
WJQQ-FM	Commercial				Local . Sales	Agency-												
6 SomersetK Y	15:00-19:00	11/01/18	11/02/18		1	14.00	0	0	0	0	3	3	0	0	6	30	6	84.00
WJQQ-FM	Commercial				Local Sales	Agency-												
7 SomersetK Y	10:00-19:00	11/03/18	11/03/18		1	4.00	0	0	0	0	0	0	3	0	3	30	3	12.00
WJQQ-FM	Commercial				Local Sales	Agency-												
8 SomersetK Y	06:00-10:00	11/05/18	11/05/18		1	14.00	0	3	0	0	0	0	0	0	3	30	3	42.00
WJQQ-FM	Commercial				Local Sales	Agency-												
9 SomersetK Y	07:30-09:00	11/01/18	11/02/18		1	8.00	0	0	0	0	3	3	0	0	6	30	6	48.00
WSFC-AM	Commercial				Local Sales	Agency-												
10 SomersetK Y	07:30-09:00	11/05/18	11/05/18		1	8.00	0	3	0	0	0	0	0	0	3	30	3	24.00
WSFC-AM	Commercial				Local Sales	Agency-												

WiHeart MEDIA Order Confirmation

Page 2 of 4

Printed: 10/30/2018 12:40 PM

Order No: 1127076870

Market Station	Bind To	Start Date	End Date	No Of Weeks	Rev.	Rate Type	Skip W. ľ	vi .	т 1	N T	Γ Ι	F	s s		Spots/ W. L	Spot ength	Ord Spots	Ord Cost
11 SomersetK Y	07:30-09:00	11/03/18	11/03/18		1	4.00	0	0	0	0	0	0	3	0	3	30	3	12.00
	Commercial				Local A	Agency-												
12 SomersetK Y	10:00-12:00	11/01/18	11/02/18		1	6.00	0	0	0	0	4	4	0	0	8	30	8	48.00
	Commercial				Local A	Agency-												
13 SomersetK Y	10:00-12:00	11/05/18	11/05/18		1	6.00	0	4	0	0	0	0	0	0	4	30	4	24.00
	Commercial				Local A	Agency-												
14 SomersetK Y	06:00-10:00	11/01/18	11/02/18		1	9.00	0	0	0	0	3	3	0	0	6	30	6	54.00
WLLK-FM	Commercial				Local A	Agency-												
15 SomersetK Y	15:00-19:00	11/01/18	11/02/18		1	9.00	0	0	0	0	3	- 3	0	0	6	30	6	54.00
•	Commercial				Local A	Agency-												
16 SomersetK Y	10:00-19:00	11/03/18	11/03/18		1	4.00	0	0	0	0	0	0	3	0	3	30	3	12.00
	Commercial				Local A	Agency-												
17 SomersetK	06:00-10:00	11/05/18	11/05/18		Jaies 1	9.00	0	3	0	0	0	0	0	0	3	30	3	27.00
Y WLLK-FM	Commercial					Agency-												
18 SomersetK	12:00-17:00	11/04/18	11/04/18		Sales 1	4.00	0	0	0	0	0	0	0	3	3	30	3	12.00
Y WJQQ-FM	Commercial					Agency-												
19 SomersetK	12:00-17:00	11/04/18	11/04/18		Sales 1	4.00	0	0	0	0	0	0	0	3	3	30	3	12.00
Y WLLK-FM	Commercial					Agency-												
20 SomersetK	12:00-17:00	11/04/18	11/04/18		Sales 1	6.00	0	0	0	0	0	0	0	3	3	30	3	18.00
Y WSEK-FM	Commercial					Agency-												
21 SomersetK	15:00-19:00	11/05/18	11/05/18		Sales 1	14.00	0	3	0	0	0	0	0	0	3	30	3	42.00
Y WJQQ-FM	Commercial					Agency-												
22 SomersetK	15:00-19:00	11/05/18	11/05/18		Sales 1	9.00	0	3	0	0	0	0	0	0	3	30	3	27.0
Y WLLK-FM	Commercial					Agency-												
23 SomersetK	15:00-19:00	11/05/18	11/05/18		Sales 1	15.00	0	3	0	0	0	0	0	0	3	30	3	45.00
Y WSEK-FM	Commercial				Local Sales	Agency-												
			No	of Spots/	Misc/Dig	ıital: 9	6/0/0					A	gen rder	cy (ed	Gross: Commissi Net: et Due:	on:		\$924.00 \$138.60 \$785.40 \$785.40



Page 3 of 4 Printed: 10/30/2018 12:40 PM

Order No: 1127076870

	Nov	Dec	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov
Amt. Ord.:	96	0	0	0	0	0	0	0	0	0	0	0	0
Gross:	924.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Net:	785.40	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00

Participating Customers

Melinda Gillum Dalton for Fami

100%